BIC

log[ Relative Probability ]

—400

Window Half—Width (km/s)

10%

2x10°

10

—200

1000 10*

100

5%x10°

350 iterations

Fe2 8% 100+£263 km/s

rm424 X*/(408493—5463)=0.930
L . B B I L N
I , , , BIC 445290.25 ABIC —174.500 AlogP 37.8922
s : : : X% 374707.03 Ax?* —174.500 AlogP 37.8922 -
- : :
‘ — o — e _ d8BIC
" X2
ABIC —92754 1554 :( ! 390.9 :( ]
NP —92754 391.3 :( —1870
5198 ' 5198 5288 ; 5463
A AC? AC5FI ; . . AC5B7FI .
50 100 150 200 250 300 350
350 iterations
rm424 X%/ (408493-5463)=0.930
L . B B I L N
BIC 445290.25 ABIC —174.500 AlogP 37.8922
....................... 2 374707.03 Ax? .~174.50Q AlogP .37.89
N |
i i | 1
e o I L R R L
| |
I | ; ]
|| L wnumrne
||| 5288 | 5463
|.I!|" anna
- -F - WAy - - - - - - - - - - - - - ------ ACB_F-"~--""~"" """ -------~- —
T RGN I I T A L A T T I T D N

100 150 200 250 300 350

rm424 BLR 11000 NLR 900 km/s
T+ T T v T T T T T v T T [ T T T T [ T T T T [ T T T T [ T T T T
P = e o ol e o o oo o o e e o o o o e e — — — = — S BLR
e iiieiieiiilii.iliiliolliio....o...........tNR
463 | Fel
| | ACEB7FI | E
150 200 250 300 350

350 iterations

kdh1 11-0ct-2021 02:22



